
Exercise 1

VS
RS

Find the current through the diode if VS = 6 V and RS = 20 .



Exercise 1 - Solution
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Exercise 1 – DC Sweep



Exercise 1 - Analysis
From Excel:

Slope  g = 0.04544

Reff = 1/g = 22 

Rdiode = 22 – 20 = 2 

Note: if analysis is extended to 6 V, Reff is 20.7 and x-intercept = 0.62 V.

x-intercept = 0.60 V
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Other Diodes



Exercise 2
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Let R1 = R3 = 20 
 

and R2 = R4 = 10 

Let VS = 3 V

Find the current through the conducting diode(s)



Exercise 2 – (Neither?)
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Neither diode conducts?
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This implies first diode conducts and second one does not. 
See slide.



Exercise 2 Solution- both (1/2)

4321 iiii 

Both conduct?
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Exercise 2 Solution – both (2/2)

4321 iiii 

Both conduct?







 






 






 

10
1

20
17.0

10
1

20
1

10
1

20
1

10
1

20
1

SX VV

91.0
4
7.3

4
7.0




 S
X

VV2
2

7.0
R

Vi X


3
3

7.0
R

Vi X  i2 > 0 and i3 < 0 so second diode 
does not conduct.
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Exercise 2 Solution (first)

421 iii 

First diode conducts?

2
2

7.0
R

Vi X


421

7.0
R

VV
R

V
R

VV SXXXS 







1010
7.0

20
SXXXS VVVVV 







SXXXS VVVVV 2224.1 

4.15  SX VV

88.0
5
4.4

XV

mA 18
10

18.0
2 


i

VS

R1

R2 R3 VS

R4

i3i2

i1 i4

VX

3
3

7.0
R

Vi X 
 (still does 

not conduct)



Exercise 2 Multisim



Exercise 3

Find the current through the diode and the voltage on either 
side of the diode.
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VS = 3 V, 
R1 = 10 
R2 = 20 .



Exercise 3 Solution
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